fx) = x3-3x24+3x+1L W, f(x)-2 = x(x?-1)+a(x—x?)+b(x*-1)
7} B AU S SR A% a, bl Beted a+ bl 2L

@1 @ 2 @ 3 @ 4 ® 5



(x+y)a—(x=y)b—(y—2)c—4z=00°] x, y, 2] Fkoll FAIglo] 4
AHT W, F abc S Fo1H?

D 4 @ 8 ® 16 @ 32 ® 64



3. P tar’+br—4t x—28 LPro] ol AL x4 18 Ve A7}
60t} a-bo| ke Fatolat

D
=%



4.  f(x)=33+px®+gx+127bx+2 2 YRo]EoAA, x-1 2%
throlgold uf, € of greo
P

® 9 @ 4 ® -9 @ -3 ® -12



5. oA 2’ +ax® +bx+3 0l A 2x* —x -3 O & iro] Hold
o, a+b o] T2 7

@ 3 @1 ® -1 @ -2 ® -5



o= & ot
22
® x-1

@ o, teht 2157k obd

@ x+1 ® x+2



7.

xt +4x3 - 2x% +ax + b7} o|x}A] o] LA

w27

D a=12,b=9
@ a=12, b=-9

® a=9, b=12



19993 + 1

o] 7F S
1998 x 1999 + 1 A&

8. (a+1)(a®-a+1)=d®+ 1< o]&5}]

Tatelat,

D R
=%



2} xol AR QAT ke AL W, a9 & ToHE?
_|_

4x
)
(1_, X # 5

@1 @

N |
w| =
e
(S



10. o= A 3x2 —x +2)(4x3 =52 + x + 1)°

olJ
ol

,z.._o

@ -32 ® -64 @ 32 ® 64

D 4



11. oA f(x), gx) oA f(x)E x2 - 12 Ue UHA|7F 202 g(x) &
x? = 3x+ 22 U UHA7F 2x + 10|t} 2f(x) + 3g(x) Ex - 12
e Y R]=?

® 13 @ -13 ® 16 @ -16 ® 26



@ (x% = x+7)(x* = 5x+3)
® (x? - b5x+6)(x* —5x+3)

® (x? - 2x+7)(x% - 5x +3)

@ (x*=Bx+T7)(x*—x+3)

@ (x2-5x+7)(x2 - 5x+3)



13, ofPA] x4 x%y? + 25yt 2 Q1Ea ST Y (22 + mxy + 5y?) (x2 +
nxy + 5y?) 7F ok, o] W) A4 m,n Q] & m + n ol S FoHH?

@® -6 @ -3 ® 0 @ 3 ® 6



14.

TF2] x2 4 3xy +2y? —x—3y—25 YA 9] FO 7 Ql+E5

W, 7 A5E0] g Foha?

O x+2y+1 @ x+y-3

@ x+y-2 ® 2x+3y-1

® 2x+3y+2

st

tlo



a, b, ¢7}

15.

8o
~

Be
.

mm.o
—~

~H
L

Z

@ a7} 99gl A



16. 10%-9% 482 - 72+ 62 — 52 + 42 - 3% + 22 - 12 9] gL-& F5H?

O 51 @ 52 ® 53 @ 54 ® 55



17. ¥ +232+9= (2 +ax+b)(x*+cx+d) 2 JA5E3N=E W, |ab - cd|
o g2 Poteler.

D
=%



18.

ey 2°+13x A LB C,
ST x+2)(x-12  x-1 (x-1)2  x+2

Ol HEF 4 A, B, CA#= AL W, A+B+Co &

Mo
v}

@ 6 @ 7 ® 8 @ 9 ® 10



19.

(1+2x -2 = ag + ayx + azx® + - -+ + agex?* ©] xof of
Ale] Uq1,00+a2+(14+"'+(118+a209’] e

@ 29 @ 210

St

his



@Cl5

® ag+a1 +az+as+as+as



21.

tlo

o= B7] & ab(b - a) + ac(c — a) + bc(2a — b - ¢) 2] 1< A

@ a-b © b+c © a-c

ONQ) @ © ® 9,0
ONGNG) ® 0,06,6



22. a-b=3,b-c=1% W, ab®>-a’b+bc®-b*c+ca®-c?a 2 7?

® -14 @ -12 ® -8 @ -4 ® 0



23. oA f(x) =2t +ax + b7t (x - 1)2 22 YRoJHOA =R 4,p 9]
HE AL W, a+ b2 FEFEA?

@1 @ -1 ® 3 @ —4 ® -3



24. P(x) = 4 x+1 o tfsle] P(x) & P(x) 2 W YA & 51372

D x-4 @ 4x-1 @ 5
@ 4 ® 3



25. g x-22 vE wo] 3 UHR7F 242 ¢y (x), Vol gi(x) S
£ Vi ) Bk o174 242 (o), v o, 2 9l gk
@)

@) ® 16 @ 21 ® 64

Q| —
=~ =



